1 N1WwWaN

fscanf(fin,"%i",&1);

fprintf(fout,"%i\n",i); 3 MWoOR
%777 NTIPDA VIR
2 N1NWoR (command line arguments)

scanf("%1",&1);

main() :0IPn2
printf("%i\n",&i);

main(int argc, char *argv|])

argc=3

argv[0]="a.out"
—> argv[1]="infile"
argv :2: 2115311

argv[3]=NULL

sscanf(argv([2]," %i",&i);
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nrerror(“‘bad input in function integrate”);

void nrerror(char error_text[])
{
fprintf(stderr,”"Numerical Recipes run-time error...\n");
fprintf(stderr," %s\n" error_text);
fprintf(stderr,”...now exiting to system...\n");
exit(l); <—

}

— #include<stdlib.h>

WRPYGARAS
float qromb(float (*func)(float), float a, float b);
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float *vlI; float *vector(long nl, long nh);

v1=vector(5,10); void free_vector(float *v, long nl, long nh);

free_vector(vl,3, 1‘0),\

vi[5], ..., v1[10]

v1[5] *(v1+5)

float v[6],*v]1;

&
V1=V—5; <:>
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float *v1; float *vector(long nl, long nh);

v1=vector(5,10); void free_vector(float *v, long nl, long nh);

free_vector(vl,3, 1‘0)\

float *vector(long nl, long nh)

{
float *v;
v=(float *) malloc( (nh-nl+1)*sizeof(float) );

if (!v) nrerror("allocation failure in vector()");

vi[5], ..., v1[10]

return v-nl;

J
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“al [0] [0] [0] [4]
(1] [ﬂ]l—l[l] [1]|—| [1] [2]H[l] [3]|—| [1] lill—‘
L|[E] ['HH[E] [1]H [2] [E]H[E] [21q[2] [4]‘
m[2][3] 5 (m+245)+3)

void func(float v[][5])
{ return v[3][5]; }
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-------
=
=

(O [0) = (O] [1] = (O] [2) = [O] [3] o [O] [4]

(1] [0 1] (A q 1] (21 q (1] (21 (1] [4]

L|[2] [IZI]H[E] [l]H[E] [2]H[2] [21 P [2] [4]

void matadd(float a[][], float oat c[][], mtn,intm) { ... }

void matadd(float a[] [Wc[] [m], intn, iIntm) { ...

void matadd(float a[][5], float b[][5], float c[][5], ntn, int m) { ... }




*me=" " *AI[-L"']EIII]H[QZI [l]l—l[EJ! [EIHEE'J][B]H[E'] [“l—‘

H[l] [0] [1]1 [1] [1] [2]|— [1] [2] - [1] [=1]|—‘

2] LO] [2] [1] (2] (2l 2] (2] l2] [4]

m =" 1)1 01 Hror i Ho r21H 103 (31 H 101 4
[1] __*_‘L[ [1] [0] [1] [1]H[1] [2] [1] [3]H[1] [4]

(2] [2] (0] A (2] (1] (2] (21 [2] [3] (2] [4]

T

m(2] a[2]=b  m[2][3]=(m[2])[3] b[3]

void matadd(float **a, float **b, float **c, int n, 1nt m)



float **matrix(long nrl, long nrh, long ncl, long nch)

{

long I, nrow=nrh-nrl+1,ncol=nch-ncl+1;
float **m: m[nrl..nrh][ncl..nch]

/* allocate pointers to rows */
m=(float **) malloc( nrow*sizeof(float”) );
m -= nrl;

m[nrl]=(float *) malloc( (nrow*ncol)*sizeof(float) );
m[nrl] -= ncl;

for (i=nrl+1; i<=nrh; i++) m[i]=m[i-1]+ncol;
return m;



void free_matrix(float **m, long nrl, long nrh, long ncl, long nch)

{

free( m[nrl]+ncl );
free( m+nrl);

} WY
float func(float *v) float func(float **m)
{ {
return v[5]; return m[4][15];
} }
float *v1; float **ml;
v1=vector(5,10); ml=matrix(1,5,10,20);
func(vl); func(ml);

free_vector(vl,5,10); free_vector(ml,1,5,10,20);



